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1. B2 X ’ra

b=les M2 CSR | H8Z CSR | H2HH/HEX =9 b=ls H2H CSR | H8FHCSR | H2AH/HEH
POSCO 49 85 0.58 16 20| o) 14 24 0.58
LG} 20 32 0.63 17 LG gAY 18 19 0.95
N[IPNES 5 30 0.17 18 Sh=EO[0] 57 80 0.71
ARM S AL 7 27 026 19 AFMSDI 58 30 1.93
AR AT 7 16 0.44 20 2ot 58 53 1.09
S-0il 12 28 0.43 21 KT&G 32 56 0.57
SK&to|=l A 33 26 127 22 KT 101 60 1.68
LGC|AZ2|0| 17 19 0.89 23 SHEItAZAL 47 46 1.02
LG}t 14 16 0.88 24 falel gl (a1 24 30 30 1.00
STk} 63 72 0.88 25 SKO| L H{|0| 44 33 45 0.73
Of 2| I A| T 29 42 0.69 26 LGREZA 43 24 1.79
7 |OFX} 14 17 082 27 SKEH|Z 51 21 2 43
CIX| LR 13 18 0.72 28 als o 59 38 1.55
IR 13 12 108 29 ENE Ered! 18 8 2.25
SIC ZH|A 32 21 152 30 GICHAM1H- 64 37 1.73
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2. /44 X7 4H=E - 2N Rgat X[ B’ ot
29| Abal 2017 ROA |2t HAF ROA| A8t 3t =? 2198 2017 ROA A WA ROA|  Hst 3t
1 POSCO 374 216 158 16 2G| oz 12.90 7.28 5.62
2 LG 4.73 -5.64 10.37 17 LG =AY 13.33 6.39 6.94
3 NEIPNES 0.72 0.64 0.08 18 St=Ef0|0f 6.34 2.88 3.46
4 PSS 1.03 4.36 -3.33 19 -gSDI 4.20 6.34 -2.14
5 CCeE 0.46 0.70 -0.24 20 i 1.34 1.43 -0.09
6 S-Qil 8.58 7.43 1.15 21 KT&G 11.77 0.00 11.77
7 SKo0|5 A 27.42 18.39 9.03 22 KT 1.87 4.88 -3.01
8 LGH AZ20] 7.17 9.05 -1.88 23 St=ItASAL -3.09 1.10 -4.19
9 LGzlet 8.88 728 160 24 ot Ol 6.08 7.28 -1.20
10 SCk} 2 55 1 48 4.03 25 SKO| - H{|O0[ 6.42 7.43 -1.01
11 O | THAIE 7.54 6.39 1.15 26 LGRE2A 4,57 4.88 -0.31
12 7 |OFA} 1.88 -1.48 3.36 27 SKE2|Z 8.21 4.88 3.33
13 CIM| R =t 253 6.23 -3.70 28 AtEsY 6.79 0.62 6.17
14 ST 0.80 6.16 -5.36 29 2oaY -0.06 2.59 -2.65
15 L= H|A 3.73 3.32 0.41 30 AR E 2.21 2.16 0.05
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2. M7t X| B AE - HIHS AT} X| B

2t8 1

=9 -k i
1 Of &2 2| T A} 18.21
2 LG} 17.87
3 SICHK} 17.62
4 SHLELO|Of 17.59
5 LGatst 17.42
6 7 |OFX} 17.34
7 SKSHO| <l A 17.19
8 POSCO 17.11
9 SO O 16.87
10 SKEZ|Z 16.84
11 S-0IL 16.68
12 KT&G 16.53
13 LGA=HH Y 16.47
14 Sz 2 16.33
15 oot 01 16.28

=9 -k e
16 LGC|AZ2|0] 16.2
17 ZHad 16.16
18 SKO| L H|o| M 16.08
19 CJHEXS 16.01
20 St 15.95
21 LGREEA 15.86
22 S H|A 15.58
23 ciclEn 15.44
24 dE=tt 15.3
25 SHRILAZAL 15.27
26 ABHX|F 15.19
27 AtASD 15.15
28 SiCHA| A 15.06
29 Abad AT 14.91
30 KT 14.68
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4T} X B A - 53 K| E SH ot 1
CEot MF A HIZWRA Hof X|HE A6t 2|5 da X' =&
B2 ZTHA|S] ST S 2AI3|7| Yot £15 442 X|E 23t YBHOR 2HiE X E
7|H MEdat He | HA R0 Es | it B (28l) 7|HE Mgt Ha | HIXREo FHs | gt " (28])
L GXIX} 29 29 116 oot o[ 9 16 50
SKSHO|H A 28 24 104 SKO[ - H[o]H4 10 13 46
SICHKL 24 28 104 LGE|AZH[0] 8 15 46
$t=2E}0|Of 23 27 100 o gl 13 8 42
KT&G 30 19 98 LGREHA 11 10 42
S0 o1 25 22 94 A LEIPNES 15 5 40
7| OFAt 22 25 94 2HAT 6 14 40
P | T A 17 30 94 SACHAM|1 A 14 3 34
LG2Fet 20 26 92 CIMIEXMIE 3 12 30
LG/ HY 27 18 90 Ay 12 2 28
HliE3Y 26 17 86 St= & 1 11 24
SKEIZ|2 21 21 84 At4SDI 7 4 22
POSCO 19 23 84 EE4t 4 7 22
S-Oil 18 20 76 StEILAZAL 2 6 16
SCHEH|A 16 9 50 KT 5 1 12
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3. One way anova test - H|AE A|sH Z1} (7p4d XHEH G{ &) r

ANOVA
SRR SES
e RE Ho A= F folztE
-2k 8742.500 2 4371.250 6.099 .007
T Th-LH 17917.500 25 716.700
| 26660.000 27

Q9|8 0.0007 2 AZ|T= 95% M™A|Q| p2fE Lt Tt

CHE 712 M=

J|Eel TE, HIZHFEH ‘d1t= 7|”O| ZAISt= CSR 32| ZHof| WE EE 24 Xt0|7F UCt
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3. One way anova test - AIZ&24 =

o
T
x
it
=
|
[T
ox
i

95% Al=z| 12t

O &4
stat ma orat 7 oA EENISR  RoEE o
S 5B -34.00000* 11.59229 .021 -63.7456 -4.2544
d&5C 4.75000 16.39398 1.000 -37.3166 46.8166
Sen dEA 34.00000* 11.59229 .021 4.2544 63.7456
a5C 38.75000* 14.96559 047 .3486 77.1514
a=c J=EA -4.75000 16.39398 1.000 -46.8166 37.3166
5B -38.75000%* 14.96559 047 -77.1514 -.3486
* MAX10|=0.05 ==0|M folBtL|Ct.
P 1= A9 128, 12 Be 1E Co| Q0|0[3t Afo| EXf
IS CSR ZEZ2|QE 17l 0| 2LHY CSREEEZZ|QE I}
ZICHEC XHE, H|XHEA A0t Biof|A WA O 2 Xj0|2 HOIC}
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HIKE | 4o}

-1 O
sl 7| ROA ==32t =9 7|19 HrEs
1 KT&G 11.77 1 | ofz|mAl 18.21
2 LGEX} 10.37 2 LGTXt 17.87
3 SKsto|=lA 9.03 3 SACHX} 17.62
4 LG HY 6.94 4 | 3=EROIY 17.59
5 PiESY 6.17 5 LGa}st 17.42
6 ZOAH 0|2 5.62 6 2|OFA} 17.34
7 SACHAL 4,03 7 | sKstol=lA 17.19
8 SH=2Ef0]0f 3.46 8 POSCO 17.11
9 2|OFX} 3.36 9 | ZHioj 16.87
10 SKEIZ| =2 3.33 10 | SKE= 16.84
1M LGa}et 1.60 11 S-0lL 16.68
12 POSCO 1.58 12 KT&G 16.53
13 S-0il 1.15 13 | LGM=AHY 16.47
OF Y| TH A | 1.15 14 .
15 [ EEIES 0.41 15 | SISOz 16.28
16 NLINES 0.08 16 | LGC|AZZ|0| 16.2
17 R 0.05 17 Z20|&% 16.16
18 AbMBRY -0.09 18 | SKO|'=Hf|o| A 16.08
19 AbAARTY -0.24 19 | CJHMYHY 16.01
20 LGRE2A -0.31 20 ot ™ 15.95
21 | SKO|=Hf|o|4 -1.01 21 | LGRE3A 15.86
22 stap|oj -1.20 22 | HCHZH|A 15.58
23 | LGC|AZZ0| -1.88 23 AbAISERY 15.44
24 A4SDI -2.14 24 e 15.3
25 B | Ere -2.65 25 | et=E2tAZAL 15.27
26 KT -3.01 26 NEIPNES 15.19
27 i -3.33 27 AFAMSDI 15.15
28 CIX| x| =t -3.70 28 SACHH A 15.06
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